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General Instructions fo Candidafes :
« Thereis a ‘Cool off time " of 15 minutes in addition o the writing time.
= Read questions carefully before answering.
* Read the instructions carefully.
« Calculations, figures and graphs shouid be shown in the answer sheet itself.
« Malayalam version of the questions is also provided.
« Give equations wherever necessary.

« Electronic devices except non programmable calculators are not allowed in the

Examination Hall.
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Answer any 5 questions from 1 to 7. Each carries 1 score. (5%
1. What is the major technological advancement in the fourth generation computers ?
a) Transistor
b) Integrated circuit
¢) Microprocessor

d) Vacuum Tube

2. memory is small and fast memory between the processor and RAM.

3. Choose the correct exit controlled loop from the following looping statements written

below :

a) while

b) for

¢) do...while

d) None of the above
4. character is used as a string terminator and added at the end of the string.

5. function is used to check whether a character is in the upper case or not.

6. The ability of a function to call itself is known as
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Score

1 aoah 7 o saieyeegm agemslale 5 agepaia pomesns me. | ampod allme.
(5%1=5)

1. MoeIg0 MEIBYO ETURSOYEIRR (aIWOM MOEEE: njseownal ng)mIET 7
a) Transistor
b) Integrated circuit
¢) Microprocessor

d) Vacuum Tube
2, oaand] ag)oma slatommdimye coalmye ES@IRIEE #2104 10 EUOOERCIQmDOR
HOcIWoem.
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orEml® elja] EEaMMSH6E:.
a) while

b) for

¢) do...while

d) None of the above
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7.

A is a device that can interconnect different networks having differen

protocols,
a) Router b) Bridge
¢) Switch d) Gateway

Answer any 9 questions from 8 to 19. Each carries 2 scores.

8.

10.

1.

12.

13.

14,

35,

Do the following number conversions
a) (31),,to binary.

b) (10001), to decimal.

» Define Data processing,

Compare RAM and ROM.

What is an Operating System ?

What are the two types of Documentation ?

How are non-graphic characters represented in C++ ? Give an example.
Write the purpose of default statement in switch statement.

Compare ‘break’ and ‘continue’ statements in C++.
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T. QUYDYTR BI0I5086MOBLEBIEE Yy SMHABBOLBOR albqyoo snumuflaflesod eioim

B0} DaldbRemaosm’
a) Router b) Bridge

¢) Switch d) Gateway
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10.

1.

12,

13.

14.

15.

(9x2=18)
007 (DALY MAUO 0D deTDOUDAHTD 6).21Q)Jdb.
a) (31),,to eenima. (1)
b) (10001), to eawmiad. ()
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16. Define an Array.

17. Compare Linear search and Binary search.

18. Explain the merits of modular programming.

19. Pick the odd one out and give reason :

a) strlen() b) itoa()
c) strepy() d) strcat()
Answer any 9 questions from 20 to 32. Each carries 3 scores. (9%3=27

20. Explain Von Neumann architecture of a computer with proper diagram.

21. Represent - 60 in 1’s complement form.

22. What is e-waste ? Explain different e-waste disposal methods.

23. What is mean by debugging ? What are different types of errors in computer programs 7

24. What are the rules for naming identifiers in C++ 2

25. Define data types in C++ ? List fundamental data types in C++,
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19. aymypecws’ tlaeesmmsymm, @oname M@ i:.
a) strlen() b) itoa()
¢) strepy() d) strcat()
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26. Rewrite the following statement using if ..else statement.

result = mark > 30 ? ‘p": ‘f*;
27. Write an algorithm for bubble sort.
28. Differentiate between ‘get()’ and ‘getline()’ functions in C++.

29. Write down the differences between call by value and call by reference function

calling techniques in C++.
30. What is a computer network ? What are the major advantages of a computer network ?

31. Explain the main sections of e-mail with an example.

32. Write the disadvantages of social media. What are the different ways to avoid the

disadvantages of social media ?

Answer any 2 questions from 33 to 36. Each carries S scores. (2x5=1
33. a) State De Morgan’s theorems. (
b) Draw logic circuit for the Boolean expression X + v . (

¢) Draw the logical symbol of universal gates. [
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26.

F

28.

29,

30.

1.

32,

Score
@36 ng)eyaflaldlenim aiqgoaim if...else pris@ouilay Il 0§)#4T4E
result = mark > 30 ? ‘p': ‘f’;
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CH @b a0 ee6n (UoRIYAIjo 800D HBEN OaDOMMY anoUTnHd e0:08lot) OSfleniSal0

@aTEISS QUY® DOVEBWD ag)P 118,

ag)moem @MUYSA emgades 7 amy @miysd emgaudesag iwom am5EBcd

Qg)eMIBBNWIET ?

-eawallon Iwom BIMBR 80} PEIAOEMIVaCI®o afltededlon L.

G0 YT FU@W@IOS BEAUETRR ag)9imids. BTV T AW HS Enl0noyHwD a8l
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33.

(2x5=10)
a) aufl amodunadmy milavonmemdd afidqallenss. )
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MR) What is owhatt 2 1 et iy thee advantages of fowcharts,

B Canver the following algarithm to corresponding flowchart.

M 1 NTART

Ntep 2 Input AL B ¢
Step Yy S=A4RaC
Step 4 - Avg = NA
Ntep S Prigt S, Avg
Step & N TOP

35 n) Write the Baste siruchire of & Ca4 program.

B Explain any one method of type conversion in C4+,

5. Wt iy Tapolagy ? Compare different 1 AN topologies.
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34. 2) agrmoamaggoniods 7 aggonodgyeains age®EIE|C QYT DEMETBR ag# Il (2%2)
b) goafigomym meadenodioo @omysnimy sggoalodgiaeies aldiaENo B2 Kge. (24)
Step 1 : START
Step 2 : Input A, B, C
Step3:S=A+B+C
Step 4 : Avg = S/3

Step 5 : Print S, Avg

Step 6 : STOP
35. a) ey C++ alowodeg @osiuaomaalsm ag)fimds. (2%2)
b) C++ asauowodisdios agemeslelo 8oy type conversion dlafl allvodle@lee . (2%2)

36. agmoem esosqogedl 7 auymyy LAN esosgjogedle:id @amayo oiGie:.
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